=
<

~
=
D R S
=
Q
o I S A
O
=
o]

(0 @) (rad)

107Y%=::|:

9 £.0
g 2
15
0 1 2 3 -3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_CKF_50MtQCD
—e— DQM_mkFit_SoftQCD-updated
—— DQM_mkFit_SoftQCD-updated-newPLDNN
—— DOM_mkFit_SoftQCD-updated-TTharDNN
= £
2 e
? gN N | R
5 o
5 © I [ A 1 T R R R
w01
010_21—-'-'--'--'-[-' ._.__.__I_:_.__.__._i__.__._.__.__i_:_.__._:_I__.__._.__._ ° S b
g F 3
o r o L
0.5 ===k fhree b 4 o
o: : : : : : e Jl ________ - e
=3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
n=
2
—
o
o
5
107
o - N ] |
g E : :
¥ 15p------- [ | B R LR EE R bRt bbb
15_ ....... ;. ......................................
0.5t 5 : E -
3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


